Chapter 7   Quiz  A   Section 3                            Name _________________________________________

1.
A 5.0-kg mass (A) traveling at 8 m/sec to the right, collides with a second mass (B) of 4.0-kg which is traveling to the left at 6 m/sec. Find the velocity of the carts after the collision. The cars are stuck together after the collision.
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2.
Find the mass of the cart (B), which is initially traveling to the left at 4.0 m/sec and is seen traveling at 2.5 m/sec to the right after the collision. The mass of cart (A) is 4.0 kg and is initially traveling to the right at 5.0 m/sec and is seen traveling to the left at 4.0 m/sec after the collision.
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3. While two 40-kg carts are moving along together with a velocity of 2.2 m/s, a spring pushes them apart. One of them continues with a velocity of 1.8 m/s with its direction of motion unchanged. What is the velocity of the other cart after it is pushed by the spring?

4.
A 30-kg cart moving to the right with a speed of 8.5 m/s collides with a 60-kg cart moving at 10.2 m/s in the same direction. After the collision they are observed moving in what velocity as they remained stuck together?
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